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How many points are equidistant from the rays of an angle?
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This leads us fo two more Theorems:

1. If apoint lies on the bisector of an angle, then the point is
equidistant from the sides of the angle.

2. If a point is equidistant from the sides of an angle, then the
point lies on the bisector of the angle.



If a point lies on the bisector of an angle, then
the point is equidistant from the sides of the angle.
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Given: T_ri bisects £B4AC
DB LARDC L AC

Prove: DB =DC Statements

Reasons C
1 4D bisects ZBAC DB L AR DC LAC| Given
2 2l and /. ane R{./s DL A 1
3Ll R4, (s 71
* A8 = AS Rl Pp A
5 é}-‘;‘éq del AL Lisecler
© AACKTAIRD AAS =Tl
7 D& Nhc CPLTC
8 DB=DC Def R ¥ 5¢9.

If a point is equidistant from the sides of an angle,
then the point lies on the bisector of the angle.

Given: DB-DC DB L 4B, DC L AC
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Ist Angle Bisector Theorem: .
If BD is the angle bisector of Z/4BC then ; D:
mLABD = mZDBC = %mé.d_BC

2nd Angle Bisector Theorem:
A point lies on the bisector of an angle
if and only if the point is equidistant
from the sides of the angle.
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2D is the 1 bisector of AC . |
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4D is the angle bisector of #/BAC. Find m£BAC and DC.
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Given: Ej is the _| bisector of ?R
Prove: AGHM =aGKM 6

Statements Reasons K
1 GJ isthe | bisector of HK Given
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